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Mr. Ali Abdalla

Grade 11 General Reveal

https://www.youtube.com/c/AliAbdalla

EoT2 - 2024/2025 — Mathematics — Grade 11 General @

FRQ Questions (Writings Questions) ( 1- 5 ) U<l ¢ jal)

Simplify expressions in exponential or radical form

31-47 | 180

1

Write expressions with rational exponents in radical form and vice versa

Simplify.
31. /27p18¢12

33. 1/81(x +4)*

35.4/(/3+ 5) 18

33.5V196c6d*

39. V—27a15p°

32. —/(2x+1)°

33.  (4x —7)%*

36. 1256(5x — 2)12

33. /—64y82z°

40. 1/—16x16y3
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47@G§’OMETRY* The volume V of a regularoctalg@gron 'with edge length £ i 3 given

3
by V= e_v_ . Write the volume in smple*sf'form for octahedron with the given
edge Iengths 7 e

a. /15 cm
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2 | Solve radical equations with extraneous solutions 13-20 207
11 | Solve radical equations 1-20 207
Solve each equation.
Lo =1 2.Vb-5=4
MCQ MCQ
3.V3n+1=5 4.2+ B3p+7=6
MCQ MCQ
B.vk—4—-1=5 6.5 =./2g9g -7
MCQ
MCQ
-
7.V3r—6=3 7.(2d +3)7 =2
MCQ MCQ
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1

1 1
8.(t—3)°=2 10. 4— (1-7wW)°=0

MCQ MCQ

11.V2v -7 = -2 L
v 12. 4(5n—1)° —1 =0

MCQ MCQ

Solve each equation. Identify any extraneous solutions.

13. WX — 15 =3 /X (FRQ + MCQ)
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14.(5g + ) +7=5 (FRQ + MCQ)

- (FRQ + MCQ)
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17.(4z —1)F —1=2

(FRQ + MCQ)

18. Vx—10 =1— /x

Sl
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Example

7 243

3 | Find sums of geometric series

DOMINOS Kateri wants to set up some dominos so she can knock over one,
which knocks over two more, each of which knocks over two more, and so on.
If she wants to make 6 rows of dominos, how many will she need in total?

The first row has one domino. So, a,=1,r=2,andn = 6.

a 1— a r’-" g
Snz — Sum formula
— =12F L -
S&= 7= a=1.r=2andn==6
_ =63 . : :
Sn— 1 Simplify the numerator and the denominator
S =63 Divide.

WATER TREATMENT A certain water filtration system can remove 70% of
the contaminants each time a sample of water is passed through it. If the
same water is passed through the system four times, what percentage of
the original contaminants will be removed from the water sample?
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4 Simplify rational expressions by multiplying and dividing 24-35 316
@ P8y 15y —97+18
y—6 y>—9
@ c>—6c—16 . c*—8¢c
2—d2 " c+d
[26) x?+9x 420  4x® + 16x + 16
8x + 16 x2 —35
Mr. Ali Abdalla
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3a2 +6a+3 . 1222 —-12

a2—-32—-10  a2—4

9 — x?2 2x2 + 7Tx+3\ 1
28. .
x2 —4x —21 2x2 —-15x+7
2 -1 3
2X5F2x —12 2x°—8x
29. " —
x2+4x -5 x2 —2x —35

30 (3xy3z)3 (16a4b365)
" \2a2b2c 15x7y3z
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8x2 —10x — 3
32 10x2 + 35x — 20

2x2 +7x — 30

33 —6x2 +13x+5
ax? +12x—-72
3x2 —11x — 4

A\\Gar m |
o

?&
-

Page 10 of 32 @ +201003261312 Mr. Ali Abdalla




N
B

8x%2+10x—-3 2x%2-5x-12

‘0&‘\”\\%

N
W
4x2 +3x—1

35.

3x2-12x—36 3x2—-17x—6 4x2—40x + 24
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5

horizontal asymptotes

Graph rational functions with vertical and

1-4; 8-10; Example 1;
Example 3

343, 337-338-
339-340

Graph each function.

o
0 flx) = ot 12

Part A Find the zeros.

Part B Find the asymptotes.

Step 3 Draw the graph. mﬁ
X f(X) 8
4
<—6 -4 -2 2 4 6 8>x
—4
=8
—12
~16
—20
—24
=28
\
x3
O v =5
Part A Find the zeros. Part B Find the asymptotes.
Step 3 Draw the graph. i
4
x| @ 11
\ o
< ' > x
-3 —2 —1 5 1 2 3 |
-2
-3
|
_')w v
Page 12 of 32 @ 4201003261312 Mr. Ali Abdalla
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© /=1

16
1

Part A Find the zeros.

Step 3 Draw the graph.

X

f(x)

Part B Find the asymptotes.

o

Page 13 of 32
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O =

x3 +64
16x — 24

Part A Find the Zeros.

Step 3 Draw the graph.

X

f(x)

Part B Find the asymptotes.

4 6 8

> X
10 [112 |14

Page 14 of 32

(O +201003261312

Mr. Ali Abdalla

00201003261312

2024/2025

2024/2025



Mr. Ali Abdalla

Grade 11 General Reveal

https://www.youtube.com/c/AliAbdalla

For Exercises 8-10, consider the given function and the function shown

in the graph.

a. Copy the graph. Graph the given function.

b. Which function has the greater y-intercept?

c. Compare the asymptotes of the two functions.

=5

8. fix) = 3XX z and g(x) shown in the graph

Part A Find the zeros.

Part B Find the asymptotes.

Step 3 Draw the graph.

x f() A
61
44
24
< + + + + > x
8 B 4 -2 2 4 6 8
-2
44
64
—89
gx) f(x)
Y-intercept
Vertical Asymptote
Horizontal Asymptote
Page 15 of 32 (O +201003261312 Mr. Ali Abdalla
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x+1

9. h(x) = 2 —z andj{x) shown in the graph

Part A Find the zeros.

Part B Find the asymptotes.

Step 3 Draw the graph.

i
X f() 54
44 f(x)
31
24
14
‘ >\’
-5 4 B2 P08 4 g
-
24
-3¢
—4 4
R
g(x) f(x)
Y-intercept
Vertical Asymptote
Horizontal Asymptote
Page 16 of 32 Mr. Ali Abdalla
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x—3

10. f{x) = 5,77 and g(x) shown in the graph

Part A Find the zeros.

Part B Find the asymptotes.

Step 3 Draw the graph. y
x| f® 1
4}
3T
2
14 f(x)

& % < &

-8 - -6 —H
g(x) f(x)

Y-intercept

Vertical Asymptote

Horizontal Asymptote
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Example 1 Graph with No Horizontal Asymptotes

X3
Graph f(x) = 3.
2
Step 1 Find the zeros.
Set a(x) = 0.
x3=0
x=0

There is a zero at x = 0.

Step 2 Find the asymptotes.
Find the vertical asymptote. Set b(x) = 0.

x+%:O
=2
X=-3 ,
There is a vertical asymptote at x = —3.

Because the degree of the numerator is greater than the degree of the
denominator, there is no horizontal asymptote.

Step 3 Draw the graph.

Graph the asymptote. Then make a table of values, and graph.

x | fw
9
— 6 -
—1 3 .
0 0 /
3
0.6 :
- 3 (= ‘7 ' > X
-3 —LZ -1 1 4
| _2 —_—
-3
=4
=5
—6
—
. e —8 S
2
Mr. Ali Abdalla
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Example 3 Compare Rational Functions 3

Consider g(x) = 2xx_+22 and rational function

h(x) shown in the graph.

h(x)

Part A Graph g(x). ~Hin
Step 1 Find the zeros. \
x—2=0 Set a(x) = 0.
X=2 Add 2 to each side.
There is a zero at x = 2. \
Step 2 Find the asymptotes.
Find the vertical asymptote.
2x+2=0 Setb(x) = 0.
2x = —2 Subtract 2 from each side.
x=—1 Divide each side by 2.

There is a vertical asymptote at x = —1.
Because the degree of the numerator equals the degree
of the denominator, the horizontal asymptote is the line

~“leading coefficient of a(x) _1
y= leading coefficient of b(x) ory=—o

Step 3 Draw the graph.

Draw the asymptotes. Then make

a table of values, and graph the

ordered pairs.

Part B Which function has the greater y-intercept?

g(x) has a y-intercept of —1. h(x) appears to have a y-intercept at
X = —2, so its y-intercept is less than —1.

Part C Compare the asymptotes of g(x) and h(x).
vertical asymptotes gx): x = —1 h(x): x =1

horizontal asymptotes gx):y =% h(x):y =1
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